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"edu paper infos": [

"detected text": "f(x)=Wrac{ax+1}{x+2} "
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"detected text": "\frac { f(x {1})-f(x {2})}{x {1}-x {2}}&lt0"

"detected text": "C . \\quad \\lbrack \\frac { 1 } {3}, WMrac {1} {2}) "

"detected text": "A .\\quad (0 ,\\frac {1} {2}) "

"detected text": "D .\\quad (\frac {1} {2},1) "

"detected text": "C . \\quad \\lbrack \\frac {1 } {4},1) "

"detected text": "A .\\quad (0, \\frac { 1 } { 4 } \\rbrack "

"detected text": "f ( x ) = \\left\\lbrace\\begin{array}{l} {a ~ {x}, } & {x &t 0} \\W{(a-3)x+4
a, x\\geq 0 } \\end{array}\\right. "
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"detected text":

"f (x) = \\left\\lbrace\\begin{array}{l} { (2a-1)x+a,x\\geqgl } W {\og ax}

& { x &lt 1 } \\end{array}\\right. "
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"question options": "[{\"option\":[]}]",
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"question arr": [
{
"question text no": "[O9]",
"question text type": 3,
"question_text": "(J00C O O O f(x)=\\frac{ax+1}{x+2}0 00 (-2+0 ) D 0000 ,0000000O."
"question options": "[{\"option\":[]}]",
"question sub question": "[]"
}
]
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{
"question_text no": "[O 10]",
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"question_text": "(0000)C O OO,
O f(x)=\\left\\lbrace\\begin{array } {1} { (2a-1)x+a,x\\geq1 }\\\{\\log ax}&{x&It1}\\end{array}\\right.
0@0+x)0000000a000000#{OM",
"question options":
“[{\"option\":[\"$${\\\quad(0,\\\\frac{1}{2})}$$\" \"$${\\\quad(0,\\\frac{1} {3 F\\\rbrack}$$\" \"$${\\\\quad
\WIbrack\\frac{1}{3},\\\frac{1}{2})}$$\" \"$${\\\quad(\\frac{1}{2},1)}$$\"1}]1",
"question sub question": "[]"
}
]
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{
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"question text type": 1,
"question_text": "(00000)
O f(x)=\\left\\lbrace\\begin{array} {1} {a” {x}, } &{x&It0 }\\\\{ (a-3)x+4a,x\\geqO }\\end {array }\\right.[]C 00 O
0.x {1}\\neqgx {2}0 O \\frac{f(x {1})-f(x {2H}{x {1}x {2}}&Ut00 000 a0l 00 0O 0O O #H{O",
"question options":
;[ ${\“option\" \"$${\\\quad(0,\\\frac{1} {4 }\\\rbrack} $$\" \"(0, \" \"$${\\\\quad\\\\lbrack\\\\frac{1}{4},1)}
\II’\II(O’S)\II]}]II’
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